English
1. ldentify the type of the sentence

What a beautiful scenery !

A. Interrogative B. Affirmative
C. Exclamatory D. Imperative
2. The word 'Kindness' is a
A. Proper noun B. Collective noun
C. material noun D. abstract noun
3. The noun 'student’ is in?
A. Masculine gender B. feminine gender
C. Common gender D. Neuter gender
4. Did you do the homework ?
A. Yourself B. Yourselves C. herself D. Ourselves
5. Shankar is the member of his family
A. Young B. Younger
C. Youngest D. most Youngest
6. Aminis young to go for a swim alone.
A. very B. much
C. too D. to
7. Heissuch honourable man.
A. a B. an
C. the D. none of the above

8. The train will be leaving in an hour
The tense of the verb is:

A. Past Continuous B. Present perfect Continuous

C. Future perfect Continuous D. Future Continuous
9. Tick the correct form of the verb
I the book since morning

A. was reading B. am reading

C. have been reading D. have read
10. She be ashamed of herself

A. Could B. should

C. need D. shall
11. 1 saw him the road

A. cross B. to cross

C. to crossing D. crossed

12. He spoke rudely
The verb *spoke’ is
A. Transitive B. Intransitive
C. Complete D. incomplete
13. Nita is reading a story book
the correct passive form of the sentence is
A. A story book was read by Nita
B. A storybook will be read by Nita
C. A storybook was being read by Nita
D. A storybook is being read by Nita
14. The Assignment has been completed by me.
the correct Active form of the sentence is :

A. | completed the assignment B. I will completed the assignment




C. I has completed the assignment D. I have completed the assignment

15. The student of this class very committed.
The correct active form of the sentence is
A.is B. are
C. was D. has
16. Each of the boys given plan.
A. was B. are
C. were D. have
17. You will have to choose the two participants.
A. between B. among
C. at D. by
18. Mary was late, she finished the paper on time
A. or B. and
C. yet D. S0

19. Hesaid, "'l want to give my sister a present’
The correct indirect from of the sentence is:
A. He said that | wanted to give my sister a present
B. He said that he wants to give my sister a present
C. He said that he wanted to give my sister a present
D. He said that he wanted to give his sister a present
20. He told me that I appeared tired
The correct direct form of the sentence is:
A. He told me that, 'l appeared tired'
B. He said to me that, "You appear tired'
C. He said to me that, 'l appear tired’
D. He told me that, "You appear tired'
21. Which of the following idioms means :

'very rarely'
A. Once in a blue moon B. in black and white
C. pay through the nose D. see eye to eye
22. Which of the following words is an adverb?
A. are B. loudly
C. beautiful D. smile
23. Choose the correct synonym for the word 'forbidden’
A. lawful B. authorise
C. allow D. unlawful
24. Choose the correct antonym for the word ‘recall’ .
A. forget B. regain
C. remember D. defer
25.The idom 'be in the same boat'means;
A. very happy B. face the same situation
C. rain heavily D. create a problem

Social Studies

26. T NN I AL 61137 52
(AN, (B)(XET (C)FIAT  (D)AR ST

Page 2




27. AT T @71 F@SH e T (e | awa F s 732

(AR IfEF (86 (B)FBFw (5 (C) ST (&6 (D)aAF (FIATGR 97

28. TfAITE AFFAF TCEONF I IATIT ?

(AJgfE™T  (B)THe fordfler (C) (®FM.  (D)AF (FTf6 a7

29. (BTFTOTT SF TOF I@MH_

(ATI@FE., (BTN (C)FRAT MECIERIEIRNGEIRIST]

30. S = AfIHNIT e 337 A(EI AN [F ?

(A)NTERGIE.  (B)SSENITS (C) 8T T (D)a3 IS
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(A)FFFT  (B)JeFT ()N (D)AT (FABR 4

72,315 S 1T IT (@ TS AT (FF-
(A)ATTE e (B)%eT (C) et (D)=

73. 9= A
(A)7ER = /51 (B)GRT = ST/ (C) 789 = 1/5MO x /I (D) 7T = 5T1® x

74.C7125 F(FBA SRS TFTCTI Haly NAEW SIYSE 9FF 2 1-
(A)m/s (B)km/s (C) km/h  (D)km/min

75.5TwT ST sTde 2 foam

INIEEIEES (B)Tofb - (C) *IT5fE T® (D)SG

Maths
76. fa63 @146 oy ?
(A)(-8) +(-4) >(-8) - (- 4) (B)(-8) +(4) <(8) -(-4)
(C) (-8) +(- 4) = (-8) -(-4) (D)none of these.
77. Tf% 43m =0.086 ©T T(T M 9T AT T
(A)0.002 (B)0.02 (C)2 (D)0.2
78. 7n + 5 = 12 YRS I(IT AATHTH FT ?
(A)0 (B)-1 €)1 (D)5

79. 7 (BfS AT WTH 421 F© (&S A &7 AT 96 BTH1I?

(A)10 kg (B)12kg  (C)15kg  (D)16 kg

80. AFfG AT (FATT, TUF ANAT AF6 HATHF T4 (@TT T3, SUa

AFAT
(A)SEmE IR (B)IWWE TR (C)aF2 TN A& (D)AF (FH02 9%
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81. a6 IFT/@IT Fa%w 625 m2| 47 9F s 23F-

(A)25m (B)50 m (C)125m (D)5m

82. 50 BTFTN a6 f&5faw fafs $13 aF998 MTFTawIT 12 B1FT 9Te F(F| ©19 Ated

TF (T
(A)12% (B)24% (C) 31.6% (D)50%

& 1.2 x 10 NTYTIT ST (AT T
(A)120000000000 (B)12000000 (C) 12000000 (D)12000 000 000

84. TAN =T NHF TATTF TG 2-

(A)7.83 (B)583  (C)6.83  (D)4.83

85. Ao WHfgaTR fagws , fefs @rasf 50° a3 o= M @ ==

(A)45° (B)80°" (C) 75° (D)85°
86. fat6T (FTAf6 x 9T 1T AN (T JTF FaAy 5x — 12 = -2?

(A)?2 (B)-2 (C) 2/3 (D)10

87. 9fb = IF (FIIT TN T 27

(A)90° (B)180° © 360° (D)aF AT (I AT (FTeT
88. fatea 196 AT F223T T (e “MF &7 ?
(A)0/5 (B)0/~5 (C) 5/0(D)-1

89. 93T fag™T (FT1T 1:1:2 AFTT® | TN (FT1916 F 2

(A)30° (B)45°(C) 60° (D)90°

90. fere T (T 1alo faaTfas?

(A)AB6 STeeT  (B)AS6 I=@AT (C) T9@a  (D)aF(o 2o

91.20,00,000 ATHTIT SAFT(F 2T -

(A)0.2 x 105 (B)2.0 x 106 (C) 10.2 x 106 (D)10.2 x 105

92. qf% (-3)4 x (-3)6 = (-3)X T, BTIETX = cvvvnneenne.

(A)-10 (B)10 (C)-4 (D)-6




93. fA6T (FTH BTG w6 T2

(A)-p202, 12p2g2 (B)-4x2;,—Axy?  (C) 41,100 (D) qp? 13p2q
94. I x = -2 7], T 3x2 + 2X — 7 AFATH F
(A)1 (B)-1 (C)-9 (D)23
95. B3 5 If3r a3 Twer 3.2 o7 PR a6 TsfIEs cFaswaT 2 ...
(A)8 cm? (B)12cm?  (C)16 cm? (D)20 cm?
96. AFf @I IV 7 I, 9T (FaHT ..........
(A)154 cm? (B)38.5 cm? (C)22 cm? (D)11 cm?
97. 35, 40, 22, 17, 65, 31, 78, 33 47 AfINT 7
(A)35 (B)17 (C)61 (D)33
98. AF6 =TT fAGEF FIT 3| 6 ATITTT NITAT FO?
(A)0 (B)1/6 (C)1/2 (D)1
99. 2x + 1 (A (F -3x2 — 1 fI™TST FIT AHIAT 12

(A-3x2+2x—-2 (B)-3x2+2 (C)3x2+2x+2 (D)3x2-2
100. AF® FICT 15 T (AT AT 25 HA (5T, FTH (AT TOF AT 21F 271

(A)37.5% (B)62.5%  (C)800/3% (D)160%
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